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@) (2x + 412 ® (2x25)2
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(1-2)(14+2)+(3-4)(3+4)+(5-6)(5+6)+- - -+(15-16)(15+16)
=—(14+2+3+4+5+---+15+16)

= —(17x38)
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6. a-b=1,a>-p*=4L4 Y, a+b9 727

@1 @ 2 @ 3 @4 ® 5

a’*-b*=(a+b)a-b)=(a+b)x1=4
La+b=4




7. (H4)-4)-6x=(x+a)(x+b) & ab o] AFE Fotolet.

(x+4)(x—4)—6x =x*-6x-16
— (x+2)(x—8)
=(x+a)(x+b)

a®t b o] A= 2 - (-8) = 10 °]c}.
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(x+C)(2x+1) =222+ x+2Cx + C
=Ax>+Bx+3

LA=2 C=3 B=14+2C=7

w2tA A + BC = 2 + 21 = 23 0|t}
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(a+b)(a+b-3)+2E UT=olotH (a+b-m)(a+b—-n) A,
m—+n ] gF27?

@ 2 @3 ® 6 @ 11 ® 16

B

a+b=r12}5H4A,
t(t-3)+2=1>-3t+2
— (1-1)(-2)
=(a+b-1)(a+b-2)
Wb m 40 =142 = 3 O|k.
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= (- 14y +49) =7 - (y-17)°
=@x+y-T(x-y+7)
S(xty-T+(x-y+7) =2x




13. x%y-y-2+2x2 9 Q157} opd 220
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=(*-1)(r+2)
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14. x® —4xy +4y? +2x — 4y — 15 & AFE3|51H?

@® (x—2y+3)(x—2y-5) @ (x+2y+3)(x+2y-5)
® (x—2y-3)(x+2y+5) @ (x+2y+3)(x+2y+5)

(@)(x—2y—3)(x—2y+5)

B

(x® —dxy +4y?) + 2x -4y - 15
=(x-2)%4+2(x-2y)-15
=A%2+24A-15=(A-3)(A+5)
=(x-2y-3)(x—2y+5)
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@® ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)2+a)

@ -y +2x+2y=(x-y)(x—y+2)
@)+ 2 +x+1= (2 +1)(x+1)
@xty-1)-20-1) = (x-2)(y-1)




